
17/06/2020 

Hamilton Trust and NCETM resources. 

WALT use place value to determine the size of digits. 

Please choose 1 of these 3 sheets to work on. Complete as much as you can. 

The third is the most challenging. 

1) 1)  

a) 

 

b) 

 

c) 

 

d) 

 

e) 

 

f) 

 

 

 

g) What is the value of 3 in 873,160? 

h) The value of 6? 

i) The value of 8? 

 

j) Write in figures forty thousand and twenty. 

 

k) A car costs more than £8600 but less than £9100. Tick the prices that the 

car might cost. 

£8569 □ £9090 □ £9130 □ £8999 □ 

Write your answers as a number and as a 

word. 
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2)  

a) 

 

b) 

 

c) 

 

d) 

 

e) 

 

 

f) 

 

g) 

 

 

 

 

 

 

 

h) Think of a 6 digit number. Write it down. 

+200  -9  +1000 

What is your new number? 

 

  

Write your answers as a number and as a 

word. 
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3)  

a) 

 

b) 

 

c) 

 

d) 

 

e) 

f) 

 

 

g) 

 

 

h) 

Write your answers as a number and as a 

word. 

 

 


